0 0 00O 0 0 O I

oooo 0000000672 0000 982,300 O
oooo 000 ooooooon 0oooo
oono 000040 000025300 00000000
oooo 0000 OO0 O 00 OO0
oooon 00 30 90 90 0000 00000000000
ooood OO0 OO 30 90100 O OO OO 30120240
0000 L=53.4m W=3.26014.85m
000 OO0 t=40 A=1960000000 A=1960
000000 000000 N=10
O 0O
oooooo
oo 0 0 0 0o O O O O O O 0O O
ooooooo
1 c 910,000
, (00000000 c
900,000
3 |0000000 c
918,000
4 0000000 8
950,000
z 00000000 B
910,000
¢ |00000O00 B
920,000
Ooooooo
7 B 850,000 of
g 0000000 5
910,000
N EEEEEEE 8
1,000,000
Ooooooo
10 B 950,000
OoooooOo
1 A 920,000
D000CI0ODD0O0DDO0O0ODONONONDONONONDNONONONDNONO00NDNOoNoooon
ooooo
oooo
0000000000000 00ODOo00oooooooo oooooooooooonoooo

goooo 0000000672 gooonO  5035400002724-00-00




